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The founder of ‘Bachpan Bachao Andolan’ is

1.

2
3.
4

Shanta Sinha
Kailash Satyarthi
Aruna Roy

Anil Agarwal
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This book of ancient India has the love story of son of the founder of
Sunga Dynasty

1. Swapnavasavadutta
2 Malavikagnimitra

3. Meghadoota
4

Ratnavali
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This is not a Union Territory

1. Dadra and Nagar Haveli
2 Nagaland

3. Lakshadweep

4 Puducherry
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In 1939, Subhash Chandra Bose was elected as president of the
congress party by defeating

1. Maulana Abul Kalam Azad

2 Pattabhi Sitaramayya

3. Jawaharlal Nehru

4 Gopala Krishna Gokhale
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The reason for naming the virus as ‘Ebola’ is

1. The vaccine used to prevent it

2. A river in Congo, one of the first places of out break
3. The first person who was contacted by the virus

4. The physician who first detected the virus
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The headquarters of the “Organization of the Petroleum Exporting
Countries” (OPEC) is situated in this city, country

1.

2
3.
4

Vienna, Austria
Kuwait City, Kuwait
Doha, Qatar
Baghdad, Iraq
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‘Good Governance Day’ is observed on the birthday of

1.

2.
3.
4.

Rajiv Gandhi

Lal Bahadur Sastri
Abdul Kalam

Atal Bihari Vajpayee
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The longest river of Himachal Pradesh is

1. Jhelum
2. Beas

3. Chenab
4. Sutlej
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Consider the following.
A. Vamsadhara B.
C. Pranahita D.

The tributaries of Godavari River are

A and B
B,Cand D
A,Band D
Band C
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The Nobel Prize ceremonies take place annually in this city (except
peace prize)

1. London
2 Stockholm
3. Geneva
4 New York
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This city of Andhra Pradesh is covered in the third list of ‘Smart
Cities’ announced by Government of India on 20-9-2016

1. Tirupati

2. Kakinada

3. Vijayawada

4. Visakhapatnam
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In Central Cabinet, Minister of Environment, Forest and Climate
Change is

1. Dr. Harsha Vardhan

2. Dr. Jitendra Singh

3. Ravi Shankar Prasad

4. Suresh Prabhu
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The red beacons (lights) on top of any VIP vehicle was banned in
our country from this date.
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World’s largest Aircraft carrier built by U.S.A is named after

1. Theodore Roosevelt
2. Abraham Lincoln

3. George Washington
4. Gerald R.Ford
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This person was elected as vice chairman of the Press Trust of India
(PTI) on 29-9-2018

1. N. Ravi

2 Vijay Kumar Chopra

3. Anil Agarwal

4 Jaswanth Singh
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The first Arab country to send an unmanned probe “Hope” to orbit

Mars is

1. Kuwait

2 Qatar

3. United Arab Emirates
4 Iran
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This university lifted Maulana Abul Kalam Azad Trophy for the 23™

time
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Guru Nanak Dev University
Punjab University
Kurukshetra University

Delhi University
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India — Pacific islands sustainable development conference was
organized on 25" and 26™ May, 2017 at
1. Nauru
2. Cook Islands
3 Samova
4. Suva
b Jo 2017 J05EBS® 25 $H6c5H 26 BheE® BodaSr-BRPHE
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A 200 year old National Museum was destroyed due to fire accident
on 2-9-2018 at

1. London

2. Rio de Janeiro
3. Paris

4. Istanbul
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20.  The country that has withdrawn from the ‘Paris Climate Accord’ on

1-6-2017 is

1. Canada
2 U.S.A.
3. Brazil
4 Russia
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The Committee which has given suggestions to arrest Wastage and

Stagnation in Education is...

1.

2
3.
4

Hunter Commission
Hartog Committee
Sargent Committee

Iswaribai Patel Committee
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The first school for girl children of lower castes was started by

1.

2
3.
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Mahatma Jyothiba Pule
Mahatma Gandhi
Vijayalakshmi Pandit
Durgabai Deshmukh
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One of the following belongs to thinking skills which is a category
of life skills:

1.

2
3.
4

Coping up with stress
Effective Communication
Creative thinking

Interpersonal Relationship
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‘Sundering the children with special needs from general schools is

nothing but violation of human rights — stated by
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Benda
UNESCO
Christensen

Smith, Naisworth
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25.  The general type of register which is maintained in the school under
Records and Registers is:

1. Laboratory Register

2 Library Book Register
3. Ledger
4 Logbook
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26. Both in Centre and State of Andhra Pradesh the Ministry of
Education was named as
1. Ministry of Human Resource Development
2. Ministry of Health Resource Development
3. Ministry of Human Records Development
4. Ministry of Home Affairs
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27.  The disease occurs due to the deformities in Chromosomes is

1. Cretinism

2 Hydrocephalus

3. Down’s Syndrome
4 Phobia
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28.  The year from which the Model Schools were started functioning in
Andhra Pradesh State is

So(HNES @@06‘9 IS D)) B Bod&Bo od HABVADEo

(FrBofozeom.
1. 2011
2 2012
3. 2013
4 2014


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

29.  Under this section of RTI Act, any officer rejects the application,
denies giving information, giving wrong information, the complaint
may be given directly to the State Information Commission:

RTI oﬁyéawé‘s & DES 808 O 5°TOCH0 BooE) WHSPOD, SBeEY
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1. 11(1)
2. 12(1)
3. 18(1)
4. 19(1)

30. In the preparation of Question Paper - Reliability means:

1. To achieve the desired objectives

2. Obtaining the same mark even if it is valued by two different
examiners

3. Specifying the accurate answers for evaluation

4. Convenient to conduct the exam, evaluate and to interpret the
results
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A teacher of class IX assigned different activities to different
students. The most appropriate reason you perceive for this is

1. To prevent copying the task
2. Students like Games
3. Early completion of syllabus
4. Each child is unique
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In your class, one student is very kind, gentle and virtuous. All the
students and teachers named him as “Vivekananda”. According to
Freud his state of personality is

1. Id

2. Ego

3. Super Ego

4. Libido
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In your class you are observing that Siddhartha is bullying every
time. Which of the following method you adapt to rectify his
undesirable behaviour

1. Request the parents to provide counselling
2. Request the headmaster to provide counselling
3. Analyse the reason and provide counselling

4, Ask him to sit on the last bench.
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Avinash believes re-organisation of the perceptual field belongs to
the process and product of thinking. This is related to the following
theory.

1. The Gestault theory

2. The behaviouristic learning theory

3. Bruner’s theory of cognitive development
4.

Freud Psycho-analytic theory of thinking
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Rajesh revises the portion of syllabus periodically to strengthen his -

l. Short — term memory

2. Immediate memory

3. Long — term memory

4. Sub conscious memory
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Rekha did not like doing her homework. However her teacher started
praising her for her performance in the class leaving her slackness in
doing home work. She started being regular with home work in
order to please her teacher. This is an example of

1. Negative reinforcement
2 Guidance

3. Positive reinforcement
4 No reinforcement
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Ratnakar is an intelligent student in class X. His classmate Ravi

scolded him as ‘idiot’ for not allowing him to copy from his answer
sheet, with regard to IQ, Ravi is wrong because.

1.

2.
3.
4.

Ratnakar’s 1Q is 70-89
Ravi’s 1Q is 90-109
Ratnakar is intelligent

Idiots IQ is greater than 140
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Kamala was adjudged as a well adjusted girl by her teachers. One of
the following characteristics is not related to her

1.

2
3.
4

Respecting herself and others
Absence of fault finding attitude
Flexibility in behaviour

An unrealistic perception of the world
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According to Maslow’s theory of hierarchy of needs, the following
statement is related to the most basic needs of human beings.

1. Ramana is doing yoga for self actualization

2 Pratap is struggling to become student leader
3. Gopi is hungry, he is in need of food
4

Sita is an orphan, craves for love
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Mr. Chandra Sekhar is class X English teacher. Every student likes
him because, he

1. Encourages rote memory.

2 Allows them for group discussions

3. Engages himself in continuous lecturing
4

Liberal in assessment
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MATHS — CONTENT

The population of a town increases by 20% every year of its
population is 2,16,000 then its population 2 years ago is

a8 D&E0 BE) 23 ge (& Dod&Bo 20% é@%?:’)ocﬁae‘éao&. (%08
é%ea adrgr 2,16,000 ®ond 2 o (8o asTegre

1. 1,50,000
2. 1,72,800
3. 1,94,000
4. 1,61,400

The compound interest calculated yearly at 10% on a certain sum of
money amounts to I 665.50 in the fifth year then the C.I for the
fourth year on the same sum at the same rate is
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1. < 498.95
2. < 552.50
3. < 605.00
4. < 625.50
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The compound ratio of squares of the ratio 5 : 6 and the reciprocal
ratio of 25 : 42 is

5: 6 G¥) Stre DY Hodak 25 : 42 G¥) DE%H e
250% Y

7:6
7:5
6:7
5:7

el

The length of rectangle is increased by 20% and breadth is decreased
by 10% then the percentage increasing in the area is

a8 BBSEB(O Do) FEHD 20% Do B Ik 10%
SRoSr Tl Peregs® 1idEe FEo

1. 6%
2. 8%
3. 10%
4. 15%

If x + 5 is the mean proportion between x +2 and x +9 then the
value of ‘x’ is
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1 2
2 5
3. 7
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A person bought two articles for each ¥ 3000. He sold one article at
a gain of 20% and other one at a loss of 10% then the percentage of
gain on whole transaction is

28 K58 Both HHod w8 T 3000 0 FTH. a8 SHH
20% <2508 50050 88 A 10% Sapd8 ey Ingo i
038 $3) orgTdo

1. 15%
2. 10%
3. 8%
4. 5%

A card is randomly choosen from a pack of cards with numbers
1 to 200 then the probability of that card number is a perfect square
is

1 Boo& 200 385 Dogygen (@R a8 sede B Dol drd)dysore
a8 30@263 DINEIe 98 a’aéo“g)vg étgéosp?g @cﬁz?s éoaré?ge‘é

1 0.07
2 0.7

3. 0.12
4 0.13
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48.

49.

GET IT ON
Google Play

A card is drawn randomly from a well shuffled pack of cards then
the probability of that card is red numbered card is

e EendedS faééégzéao& aSeeyBore 2.8 58 EcHe @b
QD) K)oaag sWiG) ©Hed Ko ‘éoaréege‘é

The mean of 1, 7, 5, 3, 4 and 4 is m, the mean of 3, 2,4, 2, 3, 3 and P
is m—1 and median Q then the average of P and Q is

1, 7, 5, 3, 4 50005» 4 © (ﬁwé& @oééac‘ééaéao m So8a%» 3, 2, 4, 2,
3, 3 N5 P o @wé& @oééacﬁ?géao m-1 Sndasw éacﬁ?gﬁéo Q
©ond P 00diw Q o Jdoedd

1. 25
2. 3
3. 35
4. 4
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50.

51.

GET IT ON
Google Play

Class Interval
E858 90850 0-10]10-20|20-30 {30-40|40-50{ 50-60 |60-70|70-80

Cumulative frequency

5008 ZuRgo | 7| 21| 34|46 66| 77 | 92 | 100

The model class of the above data is

B Serodo GwE) aviEs S5K8

1 20-30
2 30-40
3. 40 - 50
4 50-60

The median of the observations 11, 12, 14, x-2, x+4, x+9, 32, 38
arranged in ascending order is 24 then the mean of the observation is

8% (Eros® ©B)RES $88eden 11, 12, 14, x-2, x+4, x+9, 32,
38 © (ﬁ»é& zéacé?sﬁéo 24 eand HBBoe cﬁné& @oééafé?géaéw
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52.

53.

GET IT ON
Google Play

The mean deviation of the data 2, 9, 9, 3, 6, 9, 4 from the mean is

2,9,9,3,6,9, 4 552085085 085055500 0ol g oo

The standard deviation of the data 6, 5,9, 13, 12, 8, 10 is
6,5,9, 13,12, 8, 10 Szpodo Gwd) (PerdE Dodo


https://applink.adda247.com/d/XhqWf9lSap
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54.  If the variance of the data 2, 4, 5, 6, 8, 17 is 23.33 then variance of
4, 8,10, 12, 16, 34 will be

2, 4, 5, 6, 8, 17 &m0 98 23.33 wowd 4, 8, 10, 12, 16,
34 Sods AYd

—

1.

2. 2333
3. 46.66
4,

55.  Cos 38° Sec (90° — 2A) = 1 then the value of angle ‘A’ is
Cos 38° Sec (90°—2A) =1 @awd ‘A’ 8%s0 Qensd

1 52°
2. 38°
3. 26°
4. 19°
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56.

57.

GET IT ON
Google Play

The length of the shadow of vertical tower on ground increases by
10m, when the altitude of the Sun changes from 45° to 30° then the
height of the tower is (in meters)

28 Qe Kogo EE) DK EDH ErtndE Fd &¥wo 45 o8
30° & £785:¢ 10 . BHH08. wond © Yoo d& (Doiest)

1. v
s
3 J
r

Given positive integers a and b there exists unique pair of integers
a and vy satisfying a = ba, + y then y lie between

a=ba +ye—9cﬁ>?33)(§on° té:éo“gjog‘éoa)?gw a B b o wEsH
0. 308350 ¥ D8E JrPRoggen 25526?86@3 DB HOE ¥ Dend

1 0<y <b
2 0<y <b
3. 0<y <b
4 0<y <b


https://applink.adda247.com/d/XhqWf9lSap
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58.  The least number which must be subtracted from 4215 to make it a
perfect square.

4215 éa@og étgo D% AHFHBOS OB é?&% Qogy

1 117
2. 118
3. 119
4 120

59. \/; vx v x then the value of ‘x’is
\/; vx v x ol ‘x7 Dend

60. If log, log, logz(x—2009) = 0 then the value of ‘x’ is
log, log, 1og3(x—2009) = 0 @ond ‘x* Dend


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

61.

62.

63.

GET IT ON
Google Play

The value of 58° — 24° - 34°
58° —24° - 34% Dend

1. —141984
2. —149184
3. 141984
4. 149184

If the roots of the equation (b—c) x* + (c—a) x + (a—b) = 0 are equal

then the value of 1s

(b—¢) X + (c-a) x + (a-b) = 0 HEHE0EGes Foreren HEFHPS

Qe
1. 4
2. 3
3. 2
4. 1

No. of sub sets of a Set A = {x : xeNand 2 <x <7}

D& A= {x:xeN 5805w 2 <x <7} wond & A & Ko
&OIDeH éoao?g

1. 4
2.

3. 12
4. 16
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64.

65.

GET IT ON
Google Play

The number of integers lie between the squares of 63 and 64 is

63 85w 64 éoap?gep zéc(‘;o éacﬁ?sﬁe o“g)vgéoaa?go éoapé

1. 128
2. 126
3. 124
4. 120

The trisection points of line joining (2, —6), (-4, 8) is

DodoHen (2, —6) 8350 (—4, 8) 0k Beny) Tereodsn &),
(BeESes Dothden

1 - — 2, —
2. -, - —, =
3 0, — -2, —
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66.

67.

GET IT ON
Google Play

The quadrilateral which is formed by the points (-7, -3), (5, 10),
(15, 8) and (3, -5) is

1
2
3.
4

Parallelogram
Square
Rectangle
Rhombus

(=7,-3), (5, 10), (15, 8) 8050 (3, -5) DoHHes® D&y
Sekotpeion Book) B0

1 JRhe0sS zﬁééa?)es:éaa
2 LYKo
3. e e tele)
-9y
4 oPo0
If a%/xf2 b%/; c then is equal to
A by ¢ wowd % DEPETS Devd
1. 27 abc x
2. — abc x
3. 3abc x
4. — abc x
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68.

69.

GET IT ON
Google Play

If o and B are the roots of the equation ax® + bx + ¢ = 0 then the
value of o' B’ + o’ B is

ax> + bx + ¢ =0 Roog), oreeren a, B oo @and of p7+ o B
Roog), Dendd

6

R CR

2 Yl - )

If (K+2), (4K - 6) and (3K — 2) are in Arithmetic progression then
the product of 5™ and 10™ term is

(K +2), (4K — 6) 50805 (3K —2) o0 @08B&S* H) 53 5580
B3 1085 doee ©80

1 116
2 126
3. 136
4 106


https://applink.adda247.com/d/XhqWf9lSap
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70.  If 3A+ B =18x"—2xy +2y* and A — B = 2x* — 6xy + 2)” then the
expression of A is

3A + B =18x" — 2xy + 2y B™ A — B =2x" — 6xy + 2)* ©OOS

QeI A

1. 5x% + 2xy + )7
2. —5x*—2xy +)°
3. 5x% = 2xy +y°
4. 5x% = 2xy — )

71.  The perimeters of a square and a rectangle are equal. If the side of
the square is 25m and the length of the rectangle is 30m, then the
ratios of areas of square and rectangle are

2.8 SEBHED HOD SYHFRBHINS DHepFese SErsiD.
SEBH shasin 258, $HB HYSHBHED T FEDH 308,
oo $EH, BESHBEH Fwesive Y

l. 24 :25
2. 34:25
3. 25:24
4. 35:34
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72.

73.

GET IT ON
Google Play

A toy is in the form of a cone mounted on hemisphere. If the
diameter of the base and the height of the cone are 12cm and 8cm
respectively then the surface area of the toy is (in cm®)

&8 8ND @gﬁs@’éaa;g Qerdorr Jendads o) I8 aoHd.
FoB) BE) grargdsin HBAM dByen JBod 1220.80 Sr8csw

820,50 wowid © wwBnd G 6¥68e BregEn (0.8 o)

1. 418.48
2. 408.84
3. 414.86
4. 521.48

If the height of an equilateral triangle is x cm then its area is
(in cm?)

2.8 B0 (§gheskon @) J&) x 0.8 wond TR JTPegEw
2
(0.5 o)

T

[

s


https://applink.adda247.com/d/XhqWf9lSap
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74.  The ratios of the radius and height of a cylinder is 3 : 2. If the radius
21cm then its volume is (cm3)

28 JpHsn Gws) a‘g@"gm 0B e Y 3 : 2. aoéangm
3
21 20.8. ®ond T H5H0STesH (0.8 )

1 18404
2 19504
3. 19404
4 18304

75.  AB, CD, PQ are perpendicular A
to BD. AB =x, CD =y and
PQ =z then z is equal to

AB, CD, PQ e» BD & A% x v
oozren AB=x,CD =y z
08050 PQ=2z ®ond z 8
B Q D
QIPIDI6.
1. —
2. —_—
3. —


https://applink.adda247.com/d/XhqWf9lSap
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76.

77.

The angles of a triangle are %x— , X— and

then sum of two angles is (in degrees)

a8 (B3hes Sleoen %x— , Xx—  $oBs0 %x—

BoH Serre InsSn (Bes?)

1. 110
2. 80
3. 60
4. 120

GET IT ON
Google Play

1
_x_
2

oNJ

In a trapezium ABCD where AB DC, diagonals AC, BD are
intersect each other at the point ‘O’. If AB = 2CD then the ratio of

areas of AAOB and ACOD is

B&cho ABCD &° AB DC 58c» Swren AC, BD e ‘O’
écg poBo8oeran. AB =2CD ®ond AAOB S8a%n ACOD

STegne A

1
4
2
1

el g
N N


https://applink.adda247.com/d/XhqWf9lSap
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78.  The hypotenuse of a right angled triangle is 6m more than twice of
the shortest side. If the third side is 2m less than the hypotenuse
then its perimeter is (in cm)

a8 oot (BghHadns® 885, Tl @8DY) 4908 BEOHETY
6 &n. obéagé. SNo7ees HHassdn égéaaés‘g 2 &. éééo&aé ©oNd @l
z‘ﬁ)é%gg"oéé (0. . 08b)

1. 75
2. 60
3. 40
4. 85

79.  PQR is a triangle right angled at P and M is a point on QR such that
PM L QR then PM? is equal to

PQR (&2hesswé® won8’min P $¢§ Soth. PM L QR erdéy QR
2 Do) M eowd PM® & $&5rE3056.

1.  QMxPQ
2.  PRxPQ

3. QMxMR
4. QM xPM


https://applink.adda247.com/d/XhqWf9lSap
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80.

81.

GET IT ON
Google Play

Ifin AABC, DE || BC,AD=x,DB=x—-2, AE=x+2 and
EC =x — 1 then x is equal to

AABC &ot DE || BC, AD =x, DB =x—-2, AE =x + 2 $8c%w
EC=x-10omd x 8 J8rS356.

1
2
3.
4

2
4
6
8

If £(x)=cos(logx) then fej f[ j— %|:f(xy)+f[§j}:

1
y

- sas [~ [ = -3 fw) 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

82.

83.

The domain of the function f(x)=+v4-x* +sin™ 1;—

f(x)=V4-x" +sin”’ 1;— oEFHSn EnE) (S

2. -

3.

4 -

If 4= , B= , C= then
A= , B= , C= o0
1. AB=AC=0

2. AB =0, AC # 0

3. AB#0, AC#0

4, AB#0, AC=0

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
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84. =

abc

(@a=b)(b-c)(c-a)

el

85. n _ —

b=
{
)
+
S
)

86. If x=cisa, y=cisp then x’y* ——— =

x=cisa, y=cisp @ ¥’y ——— =

2i cos (3o + 4B)
2i cos (3a.—4p)
2isin 3o +4p)
2i sin (3o —4p)

el


https://applink.adda247.com/d/XhqWf9lSap
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87.  The solution of +/ J N is

J J J @ HMEBeasn @B FES

88. If o, P,y areroots of x> px* gx r  then ) — =

o, B,y @03 x° px* gx & HELEGeaw B0, 00ee0

wowd Y — =



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

89.

90.

If 2

Ll A .

If the coefficients of x’ and x®in 2+ —

2+—

n den

N .

AN B~ D

= 44 :3thenn =

= 44 :3 ®ond n Jend

ok DBeachod 1, x° Heessmen SEVONEN VLN

S_

45
55
35
27

are equal then n =

GET IT ON
Google Play
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c, G,

1 3 —
91. Co+—+—5+—F+.t— =

92. Ifthelines ax hy g , hx by f ,ex fy c to be

concurrent is

ax hy g , hx by f ,gx fy c NS00 oD

Qend

1. a+tb+c=0,f+g+h=0

2. a’+b+cf=0, £+ +h*=0
3. abc+2fgh—af° —bg’ —ch’ =0,
4. af+bg+ch=0


https://applink.adda247.com/d/XhqWf9lSap
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93.

94.

95.

GET IT ON
Google Play

The reflection of the point (—1, 3) in the line 5x —y — 18 =0 is
(-1, 3) @ Do Ko 5x —y — 18 =0 $5¥3 S)aLs

(S&Doadsdo
1 2, 1)

2 (0,0)

3. 9, 1)

4 (=2,-3)

The equation to the pair of bisectors of angles between the pair of
lines 2x* — 3xy +y* = 0 is

2x° = 3xy +y’ = 0 e Sgraiorsn @ns) S KBS
Bgrasorg HEGeao

L. 3x° +2xy - 3y° =0
2 3x°—2xy +3y° =0
3. 3%+ 2xy + 3y =0
4 3x° —2xy —3y° =0

The equation of the circle passing through (0, 0), (0, a), (a, 0) is

(0, 0), (0, a), (a, 0) ©FH DotbHerbor e eoBs NI
B8 BeaE

1 X +y’+ax+ay=0
2 X +y’—ax—ay=0
3. x> +y’ +2ax +2ay=0
4

Aty =al + b


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

96.

97.

98.

GET IT ON
Google Play

The pole of the line 2x —3y +25 =0 w.r. to x° + y> =25 is
2x —3y +25 =0 o $5¢8pH x* +y’ =25 @ HFSw IS

)0
1. (0,3)
2. (1,3)
3. (=2,3)
4. (2,3)

The number of common tangents to the two circles x> + y* = 1 and
X +y* —2x—6y+6=0is

X +y’ =180 x* +y’ —2x — 6y + 6 =0 & HFSoed Ko
ééﬁ)&& ‘éo)égéape) Loz

3
1
2
4

oW =

The length of the latus rectum of the parabola y* + 8x — 4y — 4 =0
is

Y+ 8x —dy — 4= 0 o STrHaHEn BnE) TPeooesn

LD

1 2
2 1
3. 8
4 3


https://applink.adda247.com/d/XhqWf9lSap
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99.  The eccentricity of the ellipse 9x* + 5y* — 30y = 0 is
9x* + 5y° — 30y = 0 o0k HBHFI0 T DESo(ESS

100. If the vertices of a triangle are (2, 3, 5), (-1, 3, 2), (3, 5, —2) then the
angles are

(2,3,5),(-1,3,2), (3,5, -2) @ othsyen %téi‘ém»m o (B8hessdn
30859 Eeodmen

1. 30°30°120°
2. cos ' —, 900, cos ' ~——
N b

3. 30° 60° 90°

4. cos ' —. 90°, cos”',|—
A\/iﬂ b \/7
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101.

102.

GET IT ON
Google Play

The equation of the plane through the points (1, -2, 2) (-3, 1, -2)
and perpendicular to the plane x + 2y —3z=151is

(1,-2,2) (-3, 1, -2) @ dothHervore ¥Hse x +2y —3z=15
0 BdndB o0 HoRE Bedw cﬁné& BE0EBeasw

1 x+1l6y+11z+9=0
2 x+1l6y—-11z+37=0
3. x+ty+z-2=0

4 x—5y—-3z=0

If A+ B+ C =90° then cos 2A + cos 2B + cos 2C =

A+B+C=90° @ond cos 2A + cos 2B + cos 2C =

1 +4 sin A sin B sin C
1-2sin AsinBsinC
2 +2sin A sin B sin C
4 sin A sin B sin C

el
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103.

104.

If Tanl(x_lj cotl(x+2j — then x =
X — X+

Tanl(x_lj cotl(x+2j — ®ond x Ded
X+

-
2t
S
“o7

GET IT ON
Google Play

InaAABC,ifa:b:c=7:8:9thencos A:cosB:cosC=
(&ghessdn ABC Sotd a:b:c=7:8:9 ®@ond cos A :cos B:cos C

1 7:9:11
2 14:11:6
3. 7:19:25
4 8:6:5


https://applink.adda247.com/d/XhqWf9lSap
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r r, r 3

105. In AABC, 1"

nr, . n r g

(&3hezdn ABC Sotd

106. If D is the mid point of the side BC of AABC then + =
(B8hesin» ABC Soth D e9o586 BC g DotHy) wond

+ =
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107. If H=3, H=4and \_ _‘=1then \_ ‘\:

=3, [|=4 ®8a [ |=1oms | =

1. 5
2. 6
3. 7
4. 8
108. If =0, =  then =
=0, =  eond =
1. [
2. =
3, ==


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

109. =
1 - B _‘
2 o B _‘
3 o - _‘
4. 0
cos log 1
110. Lt _, 5 =
1. —
2 0
1
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log 1+ —log 1-
°8 g 1s continuous at

111. Ifthe function f(x)=

x =0 then =

_log 1+ —log 1-

f(x) 0 (HFooHw x =0 5

@8)5)‘)26012533 Bo(ﬁaiﬁa:é& =

1. a-b
2. a+tb
3. loga+logb
4. loga—logb
2. — |—=& =
1.
+
2. _—
o y
+
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113.

114.

GET IT ON
Google Play

If =2, ' =1, =—1, ' =+2then

=2, ' =1, =—1, ' =42 @awd

In a cube the percentage of increase in the side is 1. The percentage
increase in volume is

2.8 3003830 J089 gHazsindodh el B whihie aHabEe o
303HBRITEIAN J0LO BN BB
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115. The equation of tangent to the curve y(x-2) (x—3) — x+7 = 0 where
the curve cuts x-axis is

y(x-2) (x-3) —x1t7 =0 & IEs0 x-0F5505 Ppodondd Doths)
38 @6,38@ $&0EBesw

1. 20x +y—140=0
2. x—20y=7

3. 20x —y+140=0
4. x+20y+7=0

116, [——— =



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

17, [— — =
1 l -1 g
' 6 2
2 l -1 g
' 3 2
3 l -1 E
' 6 5
4 l -1 g
' 6 5

118 TL
1. —
2. —
3. —
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1. | (*- 2)4 =
0
L 2
2
3 2
s,
120. The solution of * 2 - =01s
* 2 -7 =0 5 3B cﬁwé&
St

1. Tany=rc e
2. Tany=c e
3. Tany=c e

4, Cosy=c ¢
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121.

MATHS METHODOLOGY

GET IT ON
Google Play

Asking the students to verify the solution after solving the equation,

inculcates one of these values

DTgien BEEGe FPHODS Bhaed SYD HOTY FOSFRE
B0 Toe 20P0BOFNE Ded

1
2
3.
4

1
2
3.
4

Utilitarian
Disciplinary
Cultural

Social

(DSBresTEE
(B5o85es
0 B
FSoee3s
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122. “Mathematics is a way to settle in the mind a habit of reasoning”,

was defined by

1 Locke

2 Bertrand Russel
3. Aristotle

4 Bacon

“BP&TE0SE EPSHD 3365@3 %6&&? éﬁgo $63¢50” @
20655)05326@63

1. er§

2. 2880k 855
3. ©BPES

4. @S

123. The method that is economical in terms of time

1. Inductive
2. Synthetic
3. Analytic

4. Heuristic

RBoasrR Beehh B DK

1. 508
2. 2603&8@
3. DBed
4. S
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124. The correct order of sequence (concrete to abstract) of learning
experiences in Edgar Dale’s cone of experiences is
1 Pictorial, Direct, Abstract
2 Direct, Abstract, Pictorial
3. Abstract, Pictorial, Direct
4

Direct, Pictorial, Abstract

D6 ES oS SomHe® $B5 (EHos® (Erssn $08
SHIBENIE) wefdTgTes HBS® 058

L &) S8, ofrg

2. (PSS, eSS, 8y

3. oSl &y HEY

4 DS, &), eSS

125.  Unit approach of lesson plan was designed by

1 Morrison
2 Herbart

3. Bloom
4

Gloverian

P HPE Bsr0S® aredeS &Ko (Unit approach)

BB TGS
1 VIO
2 a’5°833§

3. B

4. 536cHS
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126. One of the following cannot be used in stating the objectives

1. should be clear

2. should be valid

3. should combine two specifications
4.

should be attainable
Bobd TBS° .88 ogrgen Ererohoihtrd® GHBPACBBHENS0HE
1. @Qom SO
2. J(DSreass G0T°d
3. 3o @%ééeae» SO
4. Salerela{3Tail))

127. Siddantha Shiromani was written by this Mathematician
1. Aryabhatta
2. Bhaskaracharya-II
3. Euclid
4. Ramanujan
drpod B3B8 oI (foreR) VoD KBS B°(Qezpen
1 @6?335%
2 groeaeds -l
3. o8&
4 oodoedoesd
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128.

129.
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One of the following is not a characteristic feature of topical method
1. gives comprehensive knowledge

2. child centered method

3. improves concentration
4.

logical base
Bod BS° 8B HEB G vFpmo =B
1. Do epo B0k
2. BEBoY H¥d
3. RSB 2000l
4. @6@% sP80

Pythagoras theorem was written in the form of an equation, that is —
In AABC, /B = 90°, AC* = AB*> + BC” — indicates this nature of
mathematics

1. Disciplinary
2. Abstractness
3. Simplicity
4. Originality

AABC & /B =90°, AC’ = AB’ + BC’ o 2571588 2podsni
2 808 (T8, B KBSTR0 @) 88 Hygrard) Ben)HEHob

1
2
3. X8¥ Xgrs
4
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130.

131.
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“Pupil classifies the given geometrical figures” — this relates to this
objective

1 Knowledge
2 Understanding
3. Application
4 Skill

50 e B HeresH HEEOIE, @ HESe S ogEds
Q] o] —o %) QA

502000208
1 P50

=g
2 OIS
3. QA0
4 S9eag0

In Hunter’s score card of evaluating the textbook more weightage
has been given to this dimension

Psychological soundness
Subject matter

Literary style

> o=

Learning exercise

FEFHHE Jorergoss T Hrowb Kewd SPRSE® My grBEio
BES @odo

1. éassgcg';ﬁé 9EPTOeD
2. DA% @;Eéo

3. gPar3O

4. 00 gTRgIeen
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132.

133.
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One of the following is not an aim of Formative Evaluation
1. Testing pupils learning

2. Comparing the students

3. Improving learning atmosphere

4.

Self evaluation by the teacher
Bob TBE® 288 Erard) Suroosd aldo o

1. 3)&7336{3@ STARSINNY a’oééoéaeo

2. g eyt

3. LI TEIBETR) DLIDDHBITE
4. &pprgosnd Bahsireross

The strategy that cannot be suggested for gifted children
1. enrichment of content

2. repetition of topics that were already taught

3. assigning project work
4.

to solve challenging problems
8o ES® (HBerHoHBS SDCS"?SC%)EJéJ $R0BB8e0H50H8
L D%oh HYBSes
2 A STAY 03 DB SeoSEo
3. (@PREDOI ehHRosto
4 £3) Vhogen HoHBoHe


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

134.

135.
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In the context of development of Mathematics curriculum, “the
unuseful content in the syllabus, the topics depending on old
concepts have to be deleted”, was stated by

1
2
3.
4

Secondary Education Commission (1952-53)
Cambridge Report — 1963

Kothari Commission (1964-66)

National Policy of Education — 1986

HBETR DesHerdsdas, “2eaRE® aH@rRESor 89, HoeES
FPHBOP SEREHE W0 FoRoTd”, ©d BOVHE

1
2
3.
4

B0%d DgBLRS (1952-53)
SSOE oG (1963)

&8 E00S (1964-66)

&S Juegdardo (NPE — 1986)

One of the following provides least concrete learning experience in

Mathematics

1. Exhibits

2. Still pictures

3. Audio recording
4. Model

KB80S® (Bob BS° a88 SE% Srd W Ho EOAK0E

1
2
3.
4

(D&G@een
?8673)@@
E B5°00h
Q (@]
SdoTee
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136. The lesson plan based on interrelationship among objectives,
learning experiences and evaluation was proposed by

1 Bloom
2 Herbart
3. Morrison
4

Gloverian

OFD, @35?3‘(626 ©0gTaeen SHdAs» zﬁm@goéé, HB $edomoos®
&éé@w@é @’33%’33@26@6)

1. B

2. Euyel

3. BSOS
4. 536cHS

137. The evaluation suitable to find the causes of learning difficulties
1. Formative
2. Summative
3. Diagnostic
4. Prognostic

Qmét%esj @%&‘65 (58 oyseesd (learning difficulties) sedeseen
BEAP0OB A SurergoBdo

1 UV
2 JdoBed

3. &8Jdem
4 (er88
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138.

139.
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This method is based on psychological laws of learning (readiness,
exercise, effect)

1 Project

2 Analytic
3. Synthetic
4

Deductive

Bod AN éassg@%%é 085508 Ko°(@Pen (ﬁo‘z”ocgéé, 072590, HOS0)
2 SSHR ﬁscéa%“a(gé’é

1 (D80
2 DBKed
3. 2603&8@
4 Q50

Pupil records the probable findings while tossing a coin number of
times in a tabular form. The academic standard achieved here is

1 Problem solving

2 Connection

3. Reasoning and proof

4 Visualisation and representation

DTG TR, OIEPEY AHEIX H0grRgBd Kaeééd)%oés
EPOLDDHERE. B8 FHODS Dog(daes0

1. D08y eSS

2. odordo

3. sederren B0 DB Fohso

4, é@)%?sééea LB ([EPBADBEEO
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140. One among the following is a limitation of objective test

141.

1. Diagnostic value

2. Broad content coverage

3. Reliability of scoring

4. Testing higher order mental abilities

Bod S 288 8)5&0&320@6?& o“aégp (objective test) 58NS

L S50 deod

2. aé)&aé DR ‘é@%@o&

3. Kead et @%‘Séfooﬁaé

4, 3?533@5033 Se5R8 ©°2>630&3e» 56800

The laws of exponents are generalized with examples in this method

1. Inductive
2. Deductive
3. Analytic
4. Synthetic

&3 SPesae écéé’é@e SRS’ Hrarod m?go‘éaven (laws of
exponents) FSeaEse BobBEEeow

1
2
3. DBed
4
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142.

143.

GET IT ON
Google Play

Some parts of curriculum topics related to geometry are introduced
in the same class with a gap of 3-4 months, the method of
curriculum organisation here is

1 Topical

2 Concentric

3. Spiral

4 Logical

2.8 8K, 3-4 Joo oHHHE® 1St EJYErren 8B
@’33%33%3336263 - & 80500 JBPes a’stgé’é

1. 288

2 DEZ0(S
3. e

4 08

To enable the pupil to become proficient in the four fundamental
operations (+, —, X, +). The connected aim here is

1. Practical

2. Social

3. Disciplinary

4. Cultural

DTN Teord $HBES, DOBADe (+, - X, ) & IHeagooen
FBoHTA0E, HAE H0080DS 6@%50

1 SIMeah NS
2 FloeE
3. (B5o8Zes
4 o8
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144. The best suitable strategy to slow learners among the following

1. Responsibility of Maths club

2. Opportunity for independent learning
3. Enriched syllabus
4.

Instruction is in the form of learning by using multiple senses

&3(8ob &S zéaotéeoac‘gﬁo Sbm?gége)éa (slow learners) $o90S5K59R
50

1. KeBSJ0500 ereiss

2 odre wgfitdo T wds*do

3. DRBEDS doaR

4 @25526260656 DT0Y @30@0‘5?@3 DARrA0T SS

145. One of the topic does not belong to Applied Mathematics
1 Linear Programming
2 Statistics
3. Probability
4 Number theory

Bod TBS® HHanE KBSBRINID oK 2.8 @odo
1. BOH =80 dgedo
2 PoggE Ko

3. éoeg‘n‘é?geﬁ

4 éoa}g&%ﬁo
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146.

147.

GET IT ON
Google Play

The four basic principles of problem solving were introduced by
1. Polya

2. Thales

3. Ptolemy

4. Euclid

VIS J55SE ety (TR E doHdmen @63%33%26@63

1. g
2. B

3. AROTY
4. 08 &

One of the following learning experience is an example of contrived
experience

1. Model

2. Still picture

3. Drama

4. Exhibits

O\ 0PI GTeTELTIS el @5?3626 SINVEVEN)

1. Sdogee

2. ?8653@0
3. Y

4. slate)laaon
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148.

149.
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The Mathematical technique that is useful in orderly presentation of
ideas and steps is

Oral work
Written work

1
2
3. Drill work
4 Supervised study

ecbsden, AFraredy SHJER st @3%33@86235_ SHRBRRHE KD
50

1. SBPYE DD

2 GRS

3. RN

4 0“36?33‘%@5 Clalonize

Heuristic method was introduced by

Francis Bacon
Pestalozi

1
2
3. Aristotle
4 Armstrong

&935:18& a’acgé’é @33%33%26@63
1 @R 385
2 T‘b@;@&

3. @6@3&36

4 @5&@;05
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150.

151.
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To honour the contributions of Sri Srinivasa Ramanujan to
Mathematics, Government of India has declared this as the “Year of
Mathematics”.

& A0 Tl KBST(RNENEE @B BJTHHFL DO
agb’aygom @6@@’32{1}@5&03 “KedS KodBBo e (HEH0HES

Qod&Bo

1. 1887
2. 1937
3. 1987
4. 2012

To solve problems in Arithmetic, “The method of false position”
was used by this mathematician

1
2
3.
4

Aryabhatta
Bhaskaracharya-II
Pythagoras

Ramanujan

©o8Keads SIS 558, “The method of false position” &

080N STB

1 @6?32;5%

2 aﬁé&mwé?g-ll
3. Filopatets)

4 (OFNUR S
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Continuous Comprehensive Evaluation emphasizes one of these

aspects with respect to pupil

Ll A .

Only scholastic areas
Only non scholastic areas
Rote memorization

Overall development

c‘Dw’?Sgé Q02005003 ABoBB J émejfgoézéoés [@roess Ko

®0380

1
2
3.
4

00 FTRoTeN
800 TS wozoen
eo% Aed0

S50 BB

Pupil does oral calculation with speed and accuracy, this
specification relates to the objective

1.
2.
3.
4.

knowledge
understanding
application
skill

@Wég SPRE Keadeodn Ssorr gihyBore Bt @ @%&éés@,
&3 og?gﬁ)é K02000DI8

1.
2.
3.
4.

ePd0

=y
NPT
QAIeii0
S9eag0
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154.  One of the following is not the use of Mathematics club

155.

1. Proper use of leisure time

2. Substitution of class room learning
3. Opportunity to work in group

4. Inculcates the habit of self study

8o Bt 288 KBS Yogre (club) Rog), (HAredo 5PV

1. 888 SHcho JEore IR0

2. BBNBNE @I (Deegsiroho

3. Seseos® HATDH edsedo

4. 0H0 03508 @eartnd VOSPoB0H

The test that measures attainment after a period of learning is called

1. Achievement test
2. Personality test
3. Projective test

4. Intelligence test

BoessP00 @)e;i?gézéo 2BOAS BHaed JB5H SrrHdo Doy éég

1
2
3. (SE5E 985
4
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156. In the affective domain the highest level of objective is
1. Responding
2. Valuing
3. Organisation
4. Characterisation

BobTQE’ ag°a5°3rs°é§é§ Borfos® &3 oFso

1. (DE80H0TE
2. DenHdBENed

3. 56?3563;5’326

4. e;ée%ééeao

157. “Children learn to enjoy mathematics rather than fear it” — is a vision

of

1 Kothari Commission (1964-66)
2 NPE - 1986

3. NCF - 2005

4 APSCF -2011

“Dgen ﬁs%@véocl FONHEBoTe esdoorne @5?3"”(005"8)” - o m@&)ée‘é
nod

1 &8 SRS (1964-66)
2 NPE - 1986

3. NCF - 2005

4 APSCF —-2011
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Explaining Mathematical logic, relates to this academic standard

1 Problem solving

2 Reasoning and proof
3. Communication
4

Connection
KA TGS DNBoBEo, &8 &wtg@’a:éavwﬁ)é K000V

1 6263#53%526

2 1SiteforION) Ba’ao)cﬁo Qe DHEO
3. aé?gz_énéézﬁéo
4

odordo

“Appreciate the works of Mathematician”, relates to this value

1. Practical value
2. Cultural value
3. Social value

4. Aesthetic value

“ﬁs%é@@%@ 29505 ©9950805E0”, & Dendd $oododod

1. DBrrHE Dendd
2. 0 BE Dends
3. FSrRE Dend

4, PoSTRHE Dends


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

160. The number system was called as “Arithmetica” by

1 Greeks

2 Sumerians
3. Egyptians
4

Chinese
Q0grg TR ‘@é@aé‘:’ﬁ@’ @ 2OV

1 (Bien

2 o2BHTen
3. éae%%gpﬁaﬁ“)
4 3D%0en
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